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; 100kN/M%E#82 % : — ~ ‘ | 3mEHEADS — ~ ‘ - 100kN/ mM%#Z 5 ‘ — ~ — [3m%E#BZ D ~ - —
Fhust 1.00 | 000 ~ 644 81.04 | #FhAS | 000 ~ 644\ 1.76 9.42 Fhst 1.00 | 500 ~ 7.60 81.04 | #hdst | 500 ~ 760\ 1.76 9.42
2 100kN/MZE#22 % — ~ 3mEBAD — ~ —: 100kN/ M%# 25 — o~ - | 3mFHBZ D ~
Thus 1.00 | 000 ~ 642 80.74 | #hdsk | 000 ~ 000 1.65 881 st 1.00 | .00 ~ 7.80 80.74 | #hs | 500 ~ 7.80 | 1.65 8.81
3 100kN/M%E#22 % =~ = 3mEBAD =~ = - — | 100kN/mM%E#BZ5 = =~ — [3m%E#BZ D ~
Thusn 1.00 | 000 ~ 748 95.65 | #hs | 000 ~ 000 1.71 913 Fhist 1.00 | .00 ~ 9.90 95.65 | Ths | 500 ~ 990\ 1.71 913
4 100kN/M%E#2 2 % - ~ 3mEBAD - ~ - — | 100kN/mM%E#BZ5 — ~ -|3m%EBZ D ~
Fhst 1.00 | 000 ~ 763 97.79 | #FnS | 000 ~ 763|213 11.41 Fhst 1.00 | 500 ~ 1020 97.79 | #hst | 500 ~ 1020|213 11.41
5 100kN/M%E#82 % : — ~ ‘ | 3mEEAS — ~ ‘ - - | 100kN/M%#BZ % ‘ — ~ — [3m%E#BZ D ~
Thus 1.00 | 000 ~ 675 85.37 | #hlstk | 000 ~ 000| 1.69 9.05 FhList 1.00 | 600 ~ 850 85.37 | #hs | 500 ~ 830 | 1.69 9.05
¢ 100kN/MZE#22 % — ~ 3mEBAD — ~ —: 100kN/ M%E# 25 — o~ - | 3mFHBZ D ~ - — :
Thus 1.00 | 0.00 ~ 586 73.37 | ThS 000 ~ 586 1.91 10.21 st 1.00 | .00 ~ 7.00 73.37 | ThS | 500 ~ 7.00| 1.91 10.21
7 100kN/M%E#2 2 % =~ = 3mEBAD =~ = - — | 100kN/m%E#BZ5 = =~ — [3m%E#BZ D ~
Ths 1.00 | 000 ~ 7.10 90.18 | #hstk | 000 ~ 710 1.89 10.09 FhLlst 1.00 | .00 ~ 926 90.18 | #hs | 500 ~ 926 | 1.89 10.09
P 100kN/M%E#22 % - ~ 3mEBAD - ~ - - — | 100kN/mM%E#BZ5 — ~ -|3m%EBZ D ~
Thus 1.00 | 000 ~ 678 85.76 | #hs | 000 ~ 6.78| 1.75 9.36 FhList 1.00 | 600 ~ 826 85.76 | Ths | 500 ~ 826 | 1.75 9.36
9 100kN/m%E#BZ25 | 1.00 | 000 ~ 0569| 10875 |3m%E#BZD — ~ ‘ - | 100kN/mZE#B2 5| 1.00 | 1058 ~ 1222 10875 |3m%E#BZ5 ~
Fhst 1.00 | 069 ~ 837 100.00 | Ths | 000 ~ 837 224 11.98 FhList 1.00 | .00 ~ 1058 100.00 | Fhs | 500 ~ 1222 2.24 11.98
10 100kN/m%#BZ25 | 1.00 | 000 ~ 041 106.07 |3m%#Bz2 3% —~ ~ — 100kN/MZE#BZ5 | 1.00 | 1078 ~ 1190 106.07 |3m%E#EZ 3 ~
Thus 1.00 | 041 ~ 820 100.00 | Thst | 000 ~ 820 230 12.33 FhList 1.00 | .00 ~ 10.78 100.00 | Fhs | 500 ~ 11.90| 2.50 12.33
11 100kN/m#%#B25 | 1.00 | 000 ~ 041 106.07 |3m%F#Bz2 3% == = — — | 100kN/miZE#825 | 1.00 | 1078 ~ 11.90| 106.07 |3m%EEBZ5 ~
Thus 1.00 | 041 ~ 820 100.00 | Thst | 000 ~ 820 230 12.33 FhLlst 1.00 | .00 ~ 10.78 100.00 | Fhst | 500 ~ 11.90| 2.50 12.33
12 100kN/mMZE#825 | 1.00 | 000 ~ 014 102.12 |3m%E#BZ % — ~ - — | 100kN/mM#ERBZ B | 1.00 | 11.25 ~ 1164 | 10212 |3ImEEZD ~
Thus 1.00 | 014 ~ 7.93 100.00 | =hst | 000 ~ 793 | 1.93 10.35 FhLlst 1.00 | .00 ~ 11.25 100.00 | =nds | 5.00 ~ 11.64| 1.93 10.35
13 100kN/MZE#2 2 % — ~ ‘ 3mEHBAD — ~ ‘ — - | 100kN/mM%#BZ % ‘ — ~ — [3m%E#BZ D ~
Thus 1.00 | 000 ~ 589 73.67 | ThS | 0oo ~ 589 1.84 987 st 1.00 | 600 ~ 6.80 73.67 | ThS | 500 ~ 680 | 1.84 987
14 100kN/i%#22 3 — ~ 3mEBZD — ~ — 100kN/ M%E 82 % — ~ — | 3m%EHBZ D ~
Fhst ~ c Fhst ~ c c Fhst c ~ —| Fhist ~
100kN/i%#22 % ~ 3mEBRD ~ 100kN/ M% #8235 ~ ImEBZD ~
Fhils ~ ZFhilst ~ Fhilst ~ Fhils ~
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